



Nome: _____

Data: _____ Punteggio: _____

$$\left(-\frac{1}{3}\right)^2 - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{6}\right) + \frac{1}{2} =$$

$$\left(-\frac{1}{6}\right)^2 - \frac{1}{4} =$$

$$\left(\frac{1}{2}\right)^3 + \frac{2}{5} =$$

$$\left(\frac{3}{5}\right)^2 - \frac{1}{5} =$$

$$\left(\frac{1}{5}\right)^2 + \frac{1}{3} =$$

$$\left(-\frac{1}{2}\right)^3 - \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{1}{2}\right)^3 - \left(-\frac{3}{4}\right) =$$

$$\left(\frac{1}{5}\right)^3 + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{3}{5}\right)^2 + \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{1}{6}\right)^2 + \frac{1}{6} =$$

$$\left(-\frac{1}{5}\right)^0 + \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{1}{2}\right) - \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{1}{6}\right)^2 + \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{2}\right)^3 + \frac{1}{4} =$$

$$\left(\frac{1}{2}\right) - \frac{1}{5} =$$

$$\left(\frac{1}{2}\right)^2 - \frac{1}{2} =$$

$$\left(-\frac{3}{4}\right) + \frac{2}{5} =$$

$$\left(\frac{1}{6}\right)^3 + \left(-\frac{3}{5}\right) =$$

$$\left(\frac{1}{3}\right)^2 + \left(-\frac{1}{4}\right) =$$



Nome: _____

Data: _____ Punteggio: _____

$$\left(-\frac{1}{3}\right)^2 - \left(-\frac{1}{2}\right) = \frac{11}{18}$$

$$\left(\frac{1}{6}\right) + \frac{1}{2} = \frac{2}{3}$$

$$\left(-\frac{1}{6}\right)^2 - \frac{1}{4} = \left(-\frac{2}{9}\right)$$

$$\left(\frac{1}{2}\right)^3 + \frac{2}{5} = \frac{21}{40}$$

$$\left(\frac{3}{5}\right)^2 - \frac{1}{5} = \frac{4}{25}$$

$$\left(\frac{1}{5}\right)^2 + \frac{1}{3} = \frac{28}{75}$$

$$\left(-\frac{1}{2}\right)^3 - \left(-\frac{1}{4}\right) = \frac{1}{8}$$

$$\left(-\frac{1}{2}\right)^3 - \left(-\frac{3}{4}\right) = \frac{5}{8}$$

$$\left(\frac{1}{5}\right)^3 + \left(-\frac{1}{2}\right) = \left(-\frac{123}{250}\right)$$

$$\left(\frac{3}{5}\right)^2 + \left(-\frac{1}{3}\right) = \frac{2}{75}$$

$$\left(-\frac{1}{6}\right)^2 + \frac{1}{6} = \frac{7}{36}$$

$$\left(-\frac{1}{5}\right)^0 + \left(-\frac{1}{4}\right) = \frac{3}{4}$$

$$\left(-\frac{1}{2}\right) - \left(-\frac{1}{3}\right) = \left(-\frac{1}{6}\right)$$

$$\left(-\frac{1}{6}\right)^2 + \left(-\frac{1}{2}\right) = \left(-\frac{17}{36}\right)$$

$$\left(-\frac{1}{2}\right)^3 + \frac{1}{4} = \frac{1}{8}$$

$$\left(\frac{1}{2}\right) - \frac{1}{5} = \frac{3}{10}$$

$$\left(\frac{1}{2}\right)^2 - \frac{1}{2} = \left(-\frac{1}{4}\right)$$

$$\left(-\frac{3}{4}\right) + \frac{2}{5} = \left(-\frac{7}{20}\right)$$

$$\left(\frac{1}{6}\right)^3 + \left(-\frac{3}{5}\right) = \left(-\frac{643}{1080}\right)$$

$$\left(\frac{1}{3}\right)^2 + \left(-\frac{1}{4}\right) = \left(-\frac{5}{36}\right)$$